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Section-AL* 'k Very Short Answer Questions ~ 1X10= 10M )
1. Fill in the blanks:
I. The apple is in the ~_position from the left.

N §4 =4+7=11.The property $h0wn by the addition statement is_

L. A 2-digit number is always _than a 3-digit number.

IV. The expanded form of the number 727 is_ T,
V. 15+45=45+_
VL. 505=500 + L

Jmegerls - s
VIL. Shap’écompletes the given pattern.

;

Shape 1 Shape 2
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Vlﬂil. The ordinal number of 6 is ) el

IX. Which is the missing digit in
45 + 48 = 37

X. 2tens = ones ;. \
Lsection-B .~ Multiple Choice Questions ~ \ \

1X15=1 5mj

2. Choose the correct answer:
- |. Whatis 80 - 80?

A. 0 C. 90 |
B.. 1 D. 100
Il.  Compare and choose the correct sign.
249 2138 '
',;A-.'>_ .‘ C.=
CeBa R HEaid _ D. ||
Il The sum of 200 and 200is
A. 100 C. 200
B. 300" 5. : D. 400
IV. How ‘ma_rjy hundreds make 70 tens?
A 70%. C.0
Br7 e | D. 700
'V. Which among the following is the biggest number?
A. 901 C.109
B 910 D. 190
- VI. What s the short form of the ordinal number fifth?
A" C. five
B. sst D. Sth
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‘( Vil What is 879 - 1007

A. 689 C.779
B. 789 D. 790
VII. What is the ‘face value’ of a number ?
A. The place value B. The previous number
C. The number itself D. One
IX. How many corners does a square have?
A. 5 C.2
B. 4 D.0
X. 999 +1= \
A. 1000 ' ~ C.10
B. 100 ‘ ‘ _ D.0
Xl The smallest humber made by using the digits 4,3,7 is
A. 743 T O34T
B. 437 e , D. 734
XIl. The standard form of 500 + 30 + 6 =
- A. 536 : R . C. 356
BU736. R D8e2
XIll. Sibfragt 7o 1= 2 G
A 88 . RgRE T 4, 1 C. 89
SRR e ey
'XIV. What is the place value of 2in 4262
SACA0 T R C. 400
B. 4 * D20

XV, Name the figure shown below

d
N

>
»

A. Pqint e C. Line segmentA
B. Ray , - D. Line
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section-C

0 cars. How many

348 cars. Another parking lot has 25

A parking lot has
p X both the parking lots?

Cars are there in

So, there dre i cars in both the parking lots.

4 Gurnoor has 432 chocolates She gave away 210 chocolates How many
chocolates are left wnth her’? R Sy .

5. Add

a) 35 and 27 G b) 23 and 18
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; 5 éubtract
a) 73 and 26 b) 58 and 15
7. a) Arrange in ascending order
478, 322, 526, 112
b) Which is the third letter in the word * SCHOOL"?
c) Complete the pattern [j Q D O
SectioniD. | ShortAnswerQuestions ____ 10X2=20M

Answer the followiﬁg:
8. a) Write the cardinal number of second.

b) Write the short form of the ordinal number third.

©

.Compare >, <, =

a)329 - 325 b) 901 901
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10, Subtract 35 from 84

11. Complete the following p‘atté\r‘h. i

M7 , N6, 05 p4

12. Arrange and add 200and241 e

13. Subtract 486 and 250.

H[T]oO

14. Write the number names of the following.

a) 456:

b) 658:
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":.1,;;v‘5how the given number on abacus.

295

16. Team A scor_éd 415 runs in the first innings. Team B scored 113 runs.

How many runs did they score in all?

[H]T|O

17 @)What is’theidifferehc‘:e between 23 and 3?

I ~’ (b) Find the sum of 8 and 07?
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